TFRBHEERE 1 7RICEDICLKMOBERRICET SHFBOARK
( BRERERLOK )

ORALIEBEICHOLIXMBEDNEES (TR28FE BMEAST)

X5 B(N) [ &(AN) |EHN) | ZHEDEIE (%)
=XV 5 8 13 61.5
A R

B (KERE) 3 2 5 40.0
R (SERE) 1 2 3 66.7
Z3: 1 1 2 50.0
EHXELT 0 1 1 100.0
REL 0 2 2 100.0

OFRARBRDZBREDRIKICHEH L XMEDEIE
(FR 27 FERARER 1| RZERE)

X5 BN | &) | FAN) | ZHEDEIE (%)

=V 26 33 59 55.9
A &R

BB (KERE) 15 7 22 318

R (SERE) 10 12 22 54.5

R 12Em 1 4 5 80.0

EEREL 0 10 10 100.0

(Fk 27 FERARBEMES 1 RZBRE)

X7 BN | &(AN) | &N | ZHEDEIE (%)

=XV 0 5 5 100.0
A B

REL 0 5 5 100.0




OBEAICHHIXMBEDEIS (F2844 A1 BRE)

RS
X % B(N) | &(AN) | EH(A) ZHEDEIE (%)
=XV 108 95 203 46.8
A H
— =T 106 69 175 39.4
AT TR
i 2 19 21 90.5
CERt U A—HBEHAES)
REL 0 7 7 100.0
IEEt-EREFER B
X % B(N) | Z(AN) | E(N) ZHEDEIE (%)
36 137 173 79.1
21K . 5
— &= F5 4R BN 8 18 26 69.2
HERES 0 19 19 100.0
REL 0 34 34 100.0
ZDith 28 66 94 70.2

OBLINDERAEIRGE (TR 28 FEPICHICEGAREG>-BE)

X5 AB | svERkEREER | IRIGE (%)
Bt 4 0 0
L 2 2 100.0
=% 6 2 33.3
AR

—REH

X5 A | soERkEREER | BRIGER (%)
Bt 4 0 0
X1t 1 1 100.0
ESES 5 1 20.0




L | ObBRAKERSSE
X5 A% " S (%)
Bk 0 0 0
=i 0 0 0
=7 0 0 0
RETL

L | ObBRAERGSE N
X5 A " G (%)
B4
=4 1 1 100.0
2K 1 1 100.0

OB MBENREEHERKRFNGE (TR 28 FE)

X5 AH P& HEKBIRGER | lEE(%)
B4 4 100.0
NER

—HEEH

X5 AN# FRBEHERBIREGES | BlGFE (%)
B 4 100.0
HEeF 75

X7 A% FRBE M ERERGER | lEE(%)
B4 0 0
HREL

X5 A P& HEKEBIRGER | lEE(%)
B4

XKERSMO=6 DIRRHEL L




OEHEMMMIZHIBMEICHHIXMEBEDEIS (F 2854 A1 BRAE)

X 7 WE(N) | SB&HM(N) | ZHELE (%)
ETREE 18 3 16.7
EEENS 1 0 0

REM BEZER 2 1 50.0
EEZEEHER 1 1 100.0
REZEREHBR 0 0 0

&t 22 5 22.7

OFRBREICHIBEICHHLIXMBEDEE (M 2844 A1 ARHA)

X 7 BN | >B&ME(N) | ZHEHE(%)
HREHE 18 3 16.7
EEENS 1 0 0

FEMK BEZER 2 1 50.0
EEZEEHER 1 1 100.0
REZEREHBRE 0 0 0

Hi 22 5 22.7

HRHE 14 3 21.4
oy %%%?% 0 0 0
@ BEZER 3 0 0
EEZEEHER 0 0 0
REXZEREHBR 0 0 0

&t 17 3 17.6

HREHE 29 7 241
BRBEBR 1 1 100.0

FEH BEEZER 4 1 25.0
EEZEEBR 0 0 0
REZEREHBRE 1 1 100.0

Hi 35 10 28.6

a &t 74 18 243




O RANBLAEE (T 28 FHE)

X5 B(AN) | Z(AN) | &(N) ZHEDEIE (%)

=XV 0 2 2 100.0
A B

REL 0 2 2 100.0




